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PART-I

‘Reflexivity” is a concept that is relevant for
(A) Experimental method
(B) Naturalistic method
(C) Quantitative method

(D) Qualitafive method
www.FirstRanker.com
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12820628281, C

12820628362, D

Which among following statement is NOT true

(A) Experimental method examines causal relation between two variables
(B) Qualitative research aims at giving a generalised law

(©) Feminist methodology challenges the notion of “disinterested researcher’
(D) Social science researchers aim at contributing to a theory

12820638363, A
12820628364, B
12820638365, C
12820638366, D

Those who deploy the model of natural sciences to study social phenomena follow
the assumptions of

(A) Social constructivism
(B) Realism

(C) Naturalism

(D) Positivism

12820638267, A
128Z0628368. B
12820628369, C
128206382370. D

In research, data were collected by conducting interview of research participants and
in the analysis only surface meaning of interview has been considered as fact. The
researcher has been guided by which of the following framework

(A)Naturalistic
(B) Interpretive

(C)Qualitative

(D)Positivistic www.FirstRanker.com



algu FirstRanker.com

Firstranker's choice
12820638372, B
12820638373, C
12820638374. D
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The concept of “triangulation’ will come close to which of the following methods:

(A)Mixed method
(B)Qualitative method
(C)Quantitative method
(D)Observation method

128206382375, A
12820628276 B
128206838377, C
12820628378, D

Linguistic turn in social science research is based on the idea that

(A)Words have fixed meanings

(B) Words have fixed meaning but they are not easily available
(C)Words do not have a fixed meaning

(D)Words represent reality faithfully

12820628379, A
12820638280, B
12820638281, C
12820638282, D

During the review of literature if a researcher finds that there are conflicting
findings on the theme of his/her research. He/She should

(A)Not be bothered by this too much
(B)Think that there will be some mistakes in the findings of one of the previous
researches

(D)Ch:ange the theme of hlsf'her rﬂemwiw FirstRanker.com
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In a class the average score obtained by 4 students is 7. When marks of the 5%
student was added fo the total marks, then the average becomes 7.2. How much did
the 5™ student score?
(A 7
(B) 8
© 9
(D) 10
12820638387 A
12820638388, B

12820638389, C
12820638230, D

Match the following fallacies in reasoning from the first column with the examples
in the second column

Fallacies Examples

1 | Hasty generalization A. Either Welfare benefits are introduced or
mcome tax 1s raised — that 1s the only choice

2 | Appeal to authority B. It is difficult for written words to communicate
anything

3 | False dilemma C. Five people responding to the questionnaire
like the new Wagon R model — it will be
popular

4 | Contradiction in terms D. The world’s top economists say that interest

rates will fall this season

(A) 1-C; 2-D; 3-A; 4-B
(B) 1-B; 2-C; 3-A; 4-B
(<) 1-B; 2-D; 3-A; 4-C
(D) 1-C- 2-D: 3-B: 4-C Www.FirstRanker.com
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12820638394. D
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A necessary and sufficient causal relation is one in which

(A) there 1s only one cause (c) for an effect (e) (if and iff ¢ then €)
(B) a cause (c) can by ifself produce an effect (e) (if ¢ then e)
(C) a particular cause (¢) must be present for an effect (e) (if not ¢ then not e)

(D) none of the above

128206382385, A
128Z0628396. B
12820628337, C
128206382395, D

Tree questioning, iterative procedures and random sampling are:
(A) elements of the goals of science,

(B) constitute the objectives of science,

(C) are the scientific tactics employed by the scientific method,
(D) none of these.

128206258399, A
12820638400, B
1282062358401, C
12820628402, D

www.FirstRanker.com
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(A) physics, chemistry, economics,

(B) biology, history, sociology,
(C) psychology, medicine, botany,
(D) mathematics, logic, linguistics
12820638403, 4
12820638404, B

12820628405, C
128206258406, D

The problem with inductive reasoning is that:
(A) 1t lacks valid forms of argument unlike deduction
(B) does not reason causally
(C) uses statistical methods
(D) it generalizes from insufficient data
12820638407, A
12820638408, B

128206258409, C
12820638410, D

Popper demarcates science from non-science on the grounds that the propositions
and theories of the former are:

(A) fallible

(B) falsifiable
(C) conventional
(D) verifiable

128206258411, A
12820638412 B
12820638413, C

12820625414
www.FirstRanker.com
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Science grows out of common knowledge by proposing:

(A) theories about nature

(B) performing confrolled experiments to interrogate its subject matter
(C) building theories about nature

(D) inventing conjectures that go beyond common knowledge

12820628415, A
12820628416 B
12820638417, C
128206258418. D

Cuestion Label : Comprehension
Answer Question based on the following table.

The following table shows the faculty-wise enrolment of students in higher education in
India between 2012-13 and 2016-17.

Faculty 2012-13 2016-17
Total Enrolment | Women Total Women

Enrolment Enrolment Enrolment
Arts 8157308 3969715 10343541 5670875
Science 3992007 1775319 4966190 2474474
Commerce/Management 3762003 1504335 4890793 2309905
Education 741905 442656 1187846 763496
Engineenng/Technology 3333165 982277 4781913 1364660
Medicine 752277 391057 1182971 717203
Agriculture 103013 27812 241303 68187
Veterinary Science 29325 8073 35312 11573
Law 400815 115296 475463 164293
Others 229336 89863 1321826 611824
Grand Total 21501154 9306403 29427158 14156490

Source: Annual Report 2012-13 & Annual Report 2016-17, University Grants Commission, New Delhi.

www.FirstRanker.com
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In which faculty the highest and lowest shares of students are enrolled respectively
in 2016-177

(A) Veterinary Science, Arts
(B) Law, Veterinary Science
(C) Arts, Veterinary Science
(D) Education, Science

1282062358415, A
12820638420 B
128206258421, C
12820638422, D

Out of the four faculty listed below, in which the increase in women enrolment (in
absolute numbers) has been the highest between 2012-13 and 2016-17?

(A) Engineering/Technology
(B) Arts

(C) Education

(D) Medicine

12820638423, A
12820628424 B
12820628425, C
128206258426, D

What is the percentage share of women enrolment in medicine to total women
enrolmentin 2012 -13?

(A) 2.4
(B) 42
(© 519

(D) None of the above

12820628427, A
12820638425. B
12820638429, C
12820628420, D

www.FirstRanker.com
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(A) 345
(B) 354
€y 287
(DY 235

128206258431, A
12820638432 B
12820638433, C
12820628424, D

The fotal male enrolment in higher education between 2012-13 and 2016-17 has
gone up by

(A)  25.2%
(B)  22.5%
(©  52.2%

(D) None of the above

12820638435, A
128206238436, B
12820638437, C
12820638438, D

FART-II {(GRCUF-A History)
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(A) Constructivist theory of science

(B) Marxust theory

(C)) Weberian sociology

(D) Logical positivism
12820638439, A
12820638440, B

12820638441, C
1282062358442, D

In the book The Age of Revolution, Eric Hobsbawm proposes the twin revolution
thesis and its role in modernization. These twin revolutions are:

(A) The Russian Revolution and the First World War

(B) The Chinese Cultural Revolution and the Russian Revolution

(C) The French Revolution and the Industrial Revolution

(D) The Student Uprising of May 1968 and the Information Revolution
12820638443, A
128208258444 B

12820638445, C
128206258446, D

Said’s study of Onentalism draws upon three primary concepts:

(A) the concepts of reification, alienation and knowledge as power
(B) the concepts of racial discimination, colomalism and alienation
(C) the 1deas of colomial domination and cultural Imperialism

(D) discourse, knowledge/power, hegemony

128206358447, A
12820628445, B

128206358449, C

12820635450, D www.FirstRanker.com
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The Indian Association for the Cultivation of Sciences was founded

(A) in 1868 by Mahendra Lal Sircar on the lines of the British Academy of
Advancement of Sciences

(B) in 1888 by Acharya Prafulla Chandra Ray to establish a school for pure and
applied chemistry

(C) in 1860 by Charles Wood for the promotion of European sciences in India
(D) in 1904 as a forerunner to the Indian Academy of Sciences

128206358451, A
12820628452 B
12820638453, C
128206258454, D

The Umiversity Charter Act enacted in 1904 resulted in widespread reforms in the
umiversity. The most important of which was:

(A) the permission to establish post-graduate teaching and research programmes
(B) the reinvention of the university as a teaching and examining body
(C) the promotion of vocational education within the umversity

(D) the permission to establish denominational and residential universities such as
AMU and BHU.

128206238455, A
12820628456, B
12820628457, C
12820638458, D

www.FirstRanker.com
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tax breaks and benefits for industry and the wealthy will percolate down to
everyone else
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A)

(B)  to train Indians to parficipate in colonial profit-making, education was to be
provided to a small section of society who would then transmit it to the masses

(C)  the financial mechamism by which British rule in India was maintained led to
the transfer of wealth and income from India to Britain bleeding the Indian
cCconomy.

(D) None of the above

128206358459, 4
128Z0628460. B
12820628461, C
12820638462, D

C.V. Raman was awarded the Nobel Prize in physics for his work on the molecular
scattering of light. His collaborator at the time was

(A) Marie Curie
(B) M.N. Saha
(C) S.N. Bose
(D) K.S. Krishnan

12820638463, A
12820638464, B
12820638465, C
12820638466, D

www.FirstRanker.com
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(A) The Nizam of Hyderabad, the Maharaja of Mysore and the Impenal government
(B) The Nizam of Hyderabad, The Maharaja of Mysore and J.N. Tata

(C) I.N. Tata, the Impenal government and the Nizam of Hyderabad

(D) Maharaja of Mysore, J.N. Tata and the Impenal government

12820628467, A
12820628468. B
12820638469, C
128206238470, D

In which year was the Indian Independence Day on January 26 celebrated for the
first time

(A) 1925
(B) 1930
(C) 1922
(D) 1928

12820638471, A
12820638472 B
12820638473, C
12820638474, D

“Our meaning of revolution is to change the present conditions, which are based on
manifest injustice”, who said this during our anti-colonial struggle?

(A) Netaj1 S C Bose
(B) Veer Savarkar
(C) Bhagat Singh
(D)_lawaharlal Nehry

www.FirstRanker.com
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12820628477, C

12820628478, D

National Planning Committee was set up by which Congress president and when?
(A) Subhas Chandra Bose in 1938

(B) Jawaharlal Nehru in 1929

(C) Madan Mohan Malaviyain 1918

(D) Maulana Azad in 1942

128206238479, 4
128Z0628480. B
12820628481, C
12820638482, D

Who was the first woman president of the Indian National Congress?
(A) Sarojini Naidu

(B) Rajkuman Amnt Kaur

(C) Annie Besant

(D) Sucheta Kriplani

128206238483, A
12820628454, B
12820628485, C
12820638486, D

www.FirstRanker.com



:l" FirstRanker.com

M i tirs findteeandivited mass QNETRLBRAnker com

www.FirstRanker.com

(A) Non-cooperation movement
(B) Quit India movement
(C) Civil disobedience movement

(D) Champaran movement

12820638487, A
128Z0628488. B
128206258489, C
12820638430, D

The imtial goal of the British East India company was

(A) To capture the spice trade by breaking the Portuguese monopoly in Asia
(B) To compete with the French and Dutch East India Company in Asia

(C) To collect tribute from the Maratha and Nizam’s territories

(D) None of the above

1282062584351, A
12820628432 B
12820628432, C
12820638434, D

Historical research begins from the premise that “all data is suspect unless proven
otherwise.’

(A) The statement 1s incorrect

(B) The statement 1s correct

(C) The statement does not exist

(D) Such a statement cannot be made

128206258435, A
12820638496, B
12820638437, C

12820628498, D
www.FirstRanker.com
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How did Herodotus develop historical method?
(A) By accepting the legends
(B) By accepting the oracles of Delphi
(C) By accepting the bards
(D) By rejecting all the three sources

1282062843959, 4
128206328500, B
12820628501, C
12820638502, D

The establishment of the Indian National Congress was attributed to the theory of
‘Safety valve’ for hundred years. In 1985, when Dufferin Papers were released into
the public domain, and historians found that there was no proof for such a theory
and A.O. Hume had consistently opposed the colomal policy on behalf of Indians. In
the light of such incidents, the discipline of history should be subjected to only:

(A) Theorising without archival data

(B) Theonsing with archival data

(C) Theonsing on hypothesis

(D) Theorising on assumption

12820638503, A
12820628504, B
12820628505, C
12820628506, D

In the Historical Method, the methodology of Heurnistics is also called
(A) External criticism

(B) Internal criticism

(C) Modern crificism

(D) Methodological innovation

12820638507, A
12820638508, B
12820638509, C

12820E38510. [
www.FirstRanker.com



: » FirstRanker.com

A Firstranker's choice www.FirstRanker.com www.FirstRanker.com
What does Leopold von Ranke mean by ‘God dwells in History?
(A) Historians should work on theological 1ssues
(B) God 1s an analogy for truth

(C) All historical writings should be about religion
(D) Religion pervades all aspects of history

12820638511, A
12820638512 B
12820638513, C
12820628514, D

“The Forward School” and “Masterly inactivity” were the concepts used to describe
the relation between Britain and ---

(A)  France
(B)  Portugal
(C) Russia
(D)  Persia

12820638515, A
12820628516 B
12820628517, C
12820628518, D

The Pitt’s India Act of 1784 aimed to

(A) Centralise the administration

(B)  Establish the Board of Control

(C)  Make East India Company responsible to the British cabinet
(D)  All of the above

12820638519, A
128206238520. B
12820638521, C
12820628522, D

www.FirstRanker.com
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In 1792, Jonathan Duncan established a Sanskrit College at Banaras. What was its
purpose?
(A)  To endear the scholars to the British rule

(B)  To encourage the study of Sanskrit literature
(C)  To supply pundits to colomial courts
(D)  All of the above

12820638523, A
12820628524, B
12820638525, C
12820628526, D

The Brifish adopted Silver Standard in 1835 and introduced the silver rupee coin to
bring various kinds of rupees minted in different parts of India into a single system.
What were the causes for its failure in the 1860s?

(A)  Increase in the supply of silver in the market
(B)  Cost of the silver was higher than rupee coin
(C)  People wanted gold standard

(D)  All of the above

12820638527, A
12820638528 B
12820638529, C
128206238530, D

In which journal Aurobindo Ghosh wrote his critique of the Congress movement
‘New Lamps for the Old’?

(A)The Mahratta

(B) The Bombay Chronicle

(C) The Indu Prakash

(D) The Surat Times

12820628531, A
12820638532 B

1282038522
12820838534 D www.FirstRanker.com
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Who was the first Indian political leader arrested by the colomal state for preaching
about Italian revolutionaries?

(A) Bal Gangadhar Tilak

(B) Surendranath Banerjee

(C) Lala Lajpat Rai

(D) Bipin Chandra Pal

12820638535, A
12820638536, B
12820638537, C
12820638538, D

How did Napoleonic Wars affect Indian economy?

(A)  The French sunk the British cargo ships with Indian goods
(B)  “Berlin Decrees’ prohibited trade between Britain and Europe
(C)  All of the above

(D)  None of the above

12820638539, A
12820628540 B
12820638541, C
128206258542, D

Throughout the Colonial period, India enjoyed favourable balance of payment, yet it
did not derive benefit from 1t. Why?

(A)  Home charges

(B)  Remittance by British officers

(C)  Interests on debts raised in England

(D)  All of the above

128206238543, A
12820628544, B
12820628545, C
12820638546, D

www.FirstRanker.com
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(A) Establishment of Umiversities
(B) Single nomenclature for education department
(C) Grant-in-aid system
(D) All of the above

12820628547, A
12820628548. B
12820638549, C
128206238550, D

The federal structure of the political system enshrined in the Indian constitution 1s
said to have been derived from the Government of India Act of 1935. How far is this
true?

(A) True

(B) Untrue

(< Somewhat true

(D) Somewhat untrue

12820638551, A
12820628552 B
12820628552, C
128206258554, D

When was the Radhakrishnan Commission appointed?

(A) 1947
(B) 1948
© 1950
(D) 1964

12820638555, A
12820628556, B
12820628557, C
12820628558, D

PART -1I (GEROUP-E Sociology)

www.FirstRanker.com
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Sociological imagination requires us to think ourselves away from the familiar
routines of our daily lives in order to look at them anew

(A) Statement 1s False

(B) Statement is somewhat False

(C) Staterment 1s True

(D) Statement 18 neither True nor False
12820638559, 4
12820638560. B

12820838561, C
12820628562, D

Identify the statement which is not correct:

(A) Human societies are not reconstructed at every moment by individuals in
interaction

(B) There are regularities in the ways we behave and, in the relationship, we have
with one another

(C) Social contexts do not consist just of random assortments of actions

(D) Our activities both structure - give shape to - the social world around us and at the
same time are structured by that social world

12820628563, A
125820628564 B

12820638565, C

www.FirstRanker.com
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In order to make sociology a positive science, what should sociologists not do?

(A) Apply the same rigorous scientific methods to study of society that physical and
natural sciences use to study the physical and natural world

(B) Concern only with observable entities that are unknown directly to experience

(C) Understand the caunsal relationship between events and predict how future events
will occur

(D) Produce knowledge about society based on empirical evidence drawn from
observations.

12820638567, A
12820638568, B
12820638569, C
12820638570, D

Which of the following is not a characteristic of a social fact?
(A) It 1s external to the individual
(B) It 1s not sui-generis
(C) It exercises coercive power over individuals

(D) It is general throughont the society

12820638571, A
12820628572 B
12820628573, C
12820628574, D

www.FirstRanker.com
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(A) An aggregate of individual acts

(B) A purely personal act

(C) Nothing but socially patterned phenomenon

(D) Not external to the individual

12820638575, A
12820638576 B
12820638577, C
12820638578, D

One of the following is a characteristic of organic solidarity
(A) Low division of labour
(B) Grounded in consensus
(C) Bound together by common expenence

(D) Specialisation of tasks and increasing social differentiation

12820638579, A
128Z0638580. B
12820638581, C
12820638582, D

Who among the following thinkers believed that the emergence of modern society is
accompanied by important shifts in patterns of social action?

(A) Max Weber

(B) Emile Durkheim
(C) Karl Mannheim
(D) Karl Marx

12820638583, A

1282028554 B
12820838585, C www.FirstRanker.com
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Who among the following emphasised on the moral consensus in maintaining order

and stability in society?
(A) Conflict thinkers
(B) Symbolic Interactionists
(C) Phenomenologists
(D) Functionalists
12820638587, A
12820638588, B

12820638589, C
128Z0638530. D

Pastoral societies are those where
(A) People gain their livelihood from gathering and hunting amimals
(B) People raise domesticated anmimals as their major source of subsistence
(C) People depend on cultivation of fixed plots of land
(D) People live a life of anonymity

128206385391, A
12820638592 B

12820638593, C
12820628534, D

What do you mean by good sociological research?
(A) It should help us understand our social lives

(B) It should take us by surprise, in the questions it asks and in the finding it comes
up with

(C) Both the above answers (A and B) are correct

(D) None of the answers (A and B) aveneiFgstRanker.com
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'Many Westerners still believe that Africa is a dark continent inhabited by primitive
tribes always engaged in warfare'. Identify appropriate sociological term used to
describe this phenomenon.

(A) Xenophobia

(B) Racial Superiority
(C) Cultural Shock
(D) Ethnocentrism

12820628599, A
12820638600, B
12820638601, C
12820638602, D

In which of the following works Weber explored the following question: Why did
capitalism develop in the West and nowhere else?

(A) Economy and Society
(B) The Religion of China
(C) Protestant Ethic and Spinit of Capitalism
(D) The City
12820638603, 4
12820638604, B

12820628605, C
12820628606, D

www.FirstRanker.com
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(A) Max Weber
(B) Michel Foucault
(C) Emile Durkheim
(D) Vilfredo Pareto

12820638607, A
12820628608, B
12820638609, C
128Z0628610. D

Identify the incorrect Marxian idea among the following

(A) The main dynamic of modern development 1s the expansion of capitalistic
economic mechanism

(B) Power in economic system 1s separable from other sources

(C) Capitalist societies are merely of transitional type

(D) Spread of Western influence across the World is mainly due to the expansionist
tendencies of the capitalist enterprises

12820638611, A
12820638612 B
12820638613, C
12820638614, D

Who among the following sociologists believed that rationalisation 1s bound to progress
further in future, in all spheres of social life?

(A) Anthony Giddens
(B) Ulrich Beck

(C) Max Weber

(D) Manuel Castells

12820828615 A

1282028 TE B
12820838617. C www.FirstRanker.com



=| » FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

The process of active making and remaking of social structure 1s called
(A) Structuralisation
(B) Structuration
(C) Stratification
(D) Socialisation
12820638619, A
12820638620, B

12820638621, C
12820638622, D

Who wrote 'Presentation of Selfin Everyday Life'?
(A) Alfred Schultz
(B) Peter Berger and Thomas Luckman
(C) Erving Goffiman
(D) George Herbert Mead

12820638623, A
128206238624, B
12820638625, C
12820638626, D

A wife and a husband may take care to conceal their quarrels from their children, but
fight bitterly once the children are tucked up in bed. What would this be called in
Goffman's terms?

(A) Impression cover-up
(B) Management of privacy
(C) Impression management

(D) Intended socialisation

www.FirstRanker.com
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12820638629, C
128Z0628620. D
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Which according to George Herbert Mead represents unsocialised infant?
(A)
(B) Me
(C) Myself
(D) None of the above
12820638631 A
12820638632, B

12820628632, C
12820638634, D

Socialisation of the child in the school is called
(A) Primary socialisation

(B) Secondary socialisation

(C) Tertiary socialisation

(D) None of the above

12820638635, A
12820638636, B
12820638637, C
12820628638, D

Which of the following statements is incorrect?
(A) Class systems are fluid
(B) Class positions are in some part ascribed

(C) Class is economically based

(D) Class systems are impersonal  \yww.FirstRanker.com
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12820638640, B
12820638641, C
12820638642, D
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Identify the correct statement among the following

(A) To Marx, religion cannot provide justification for inequalities of wealth and
power in society

(B) To Durkheim, religion is important because it ensures that people meet
regularly to affirm common beliefs and values

£ To Weber, religion 1s important because of the role it plays in the social
change

(D) All the above statements are correct

12820628643, A
12820628644, B
128206258645, C
128206258646, D

An ideal type, according to Weber, is
(A) A subjective reality

(B) An empirical fact

(C) An abstract construct

(D) An undesirable concept
12820638647, A4

12820638648, B

128206238649, C
12820638650, D

www.FirstRanker.com
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(A) Resident Welfare Association

(B) Indian O1l Corporation

(C) Telangana Rashtra Samiti

(D) Khap Panchayat

12820638651, A
12820638652, B
12820638653, C
12820638654, D

What is not a criterion qualified to be a dominant caste
(A)economic power
(B) less hierarchical
(C) political power
(D) high nitual

12820638655, A
12820628656, B
12820628657, C
12820628658, D

Who studied the Kamars?
(A) B.S. Cohen
(B) S.C. Dube
(C) Andre Béteille
(D) M.N. Srinivas

128206258659, &
12820638660, B
12820638661, C
12820638662, D

www.FirstRanker.com
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(A) A.R. Desai www.FirstRanker.com www.FirstRanker.com

(B) Dipankar Gupta
(C) 1.S. Gandla
(D) Louis Dumont

12820628663, A
12820638664, B
12820638665, C
12820638666, D

Gramsci was considered

(A)Marxist
(B)Neo-Marxist
(C)Critical Marxist
(D)Post-Marxist

12820638667, A
128Z06386EE. B
12820638669, C
128206238670, D

What is the immediate possibility in post-modernism?
(A) Dual meaning
(B) Meaningless
(C) Multiple meaming

(D) Single meaning

12820628671, A
12820628672 B
1Z8Z0E38E73. C
12820638674, D

www.FirstRanker.com
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(B} Bourdien

(C) Habermas

(D) Ritzer

12820638675, A
12820638676, B
12820638677, C
12820628678, D

PART -II (GRCUP-C ECONOrmics)

The standard deviation of five observations 1s 12.5 and 1f each observation 1s
increased by 2 times, the standard deviation of the resulting data set 1s:

(A) Halfof12.5

(B) Remain unchanged
(C) Twotimes of 12.5
(D) None of the above

128206386749, A
128206238680, B
12820638681, C
12820638682, D

www.FirstRanker.com
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then their harmonic mean 1s:

(A) 1727
(B) 27
© 1
D 9

12820638683, A
12820628684, B
12820628685, C
12820638686, D

The range of the coefficient of determination (R?) is:

(A) Between-1and ]
(B) Between Oand 1
© =1
D =1

12820638687, A
12820628688, B
12820638689, C
128206238630, D

In a symmetrical distribution:

(A) Mode =3 Median — 2 Mean
(B) Mean > Media >Mode

(C) Mean = Median = Mode
(D) Mean<Median<=Mode

128206386391, A
12820628632 B
128206286332, C
128206258634, D

www.FirstRanker.com
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A arginalspreduchiaty-of labour (MPL) 1s an inverted U- shaped curve, which of

the following is correct www.FirstRanker.com www.FirstRanker.com

(A) The MC curve 1s U shaped and it is a mirror image of MPL
(B) The MC curve 1s an inverted U shaped curve

(C) The MC is an upward rising curve

(D) None of the above

128206386395, A
128206286396, B
12820638637, C
12820628638, D

Ifthe demand curve is a rectangular hyperbola, then

(A)  The price elasticity of demand is elastic at all levels of prices
(B The price elasticity of demand is inelastic at all levels of prices
(Cy  The price elasticity of demand 1s umtary elastic at all levels of prices

(D)  The price elasticity of demand is umtary elastic only for levels of prices for
which MR is greater than 0

128206286395, A
128Z0638700. B
12820638701, C
12820638702, D

Which of the following statement 1s true?

(A) All inferior goods are Giffen goods

(B) A Gaffen good is not necessarily an inferior good
(C) An inferior good 1s not necessarily a Giffen good
(D) None of the above

12820638703, A
12820628704 B
12820638705, C
128206358706, D

www.FirstRanker.com
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(A) MR = 100-2Q
(B) MR = 100-2P
(C) MR = 100-0.5%Q
(D) MR = 100-0.5%P

12820638707, A
12820628708 B
12820638709, C
128206358710. D

The point elasticity of the supply function Q° =P?+ 6P at P =3 is

(A) 0.63
(B) 1.33
(C) 2.0
(D) 2.66

12820638711, A
12820638712 B
12820638713, C
128206358714, D

If there are two goods, X and Y which are perfect complements and the budget
equation faced by the consumer is M =P, X + P, Y where (Py/P:) > 1, M is the budget
of the consumer, and P, and P, are the respective prices of Y and X, the equilibrium
level of consumption (X and Y) would occur at a point where

(A) Only X will be consumed
(B) Only Y will be consumed
(C) Both X and Y will be consumed

(D) None of the above

12820638715, A
12820628716 B
12820638717, C
128206258718. D

www.FirstRanker.com
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output is

(A) 45when A=10
(B) 90whenA=35
(C) 45whenA=35
(D) 90 when A=10

12820638719, A
12820638720. B
128206838721, C
12820638722 D

For a luxury commodity, the income elasticity of demand is

(A) Lessthanl
(B) Greater than 1
(C) Equaltol
(D) Equalto0

12820628723, A
12820638724 B
12820638725, C
12820638726, D

If the total cost function of a monopoly firm is: C =8X, the demand function is: P=
24 — 3X° (where C = total cost, X = quantity of the commodity produced), profit
maximizing outputis

(A) 3/4
(B) 3/8
(©) 4/3
(MM 1/8

12820638727, A
128206238728 B
128206838729, C

12820628720 D )
www.FirstRanker.com
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Which of the following statements 1s correct?

(A) GDP at factor cost is always less than GNP at factor cost

(B) NDP at factor cost is always less than GDP at factor cost

(C) GDP at factor cost is always less than GDP at market prices
(D) NDP at market prices is always greater than NDP at factor cost

12820638731, A
12820628732 B
12820638733, C
128206258734, D

Which of the following is not included in national income estimation?

(A) Capital gains

(B) Public expenditure on rehabilitation people displaced after earthquake
(C) Income earned from selling groceries in the informal sector

(D) Salaries paid to the primary school teachers

12820638735, A
12820638736 B
12820638737, C
12820628738, D

“Economics is a study of men as they live and move and think in the ordinary
business of life”. Who offered this definition?

(A) John Maynard Keynes
(B) Dawid Ricardo

(C) Alfred Marshall

(D) Lionel Robbins

12820638739, A
12820638740, B
12820638741, C
12820628742, D

www.FirstRanker.com
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But 1t does not neoesmtate a decision to have dinner or to buy a pair of boots a week
hence or to consume any specified thing at any specified date”. Which economist
from the following defined saving this way?

(A) Alfred Marshall

(B) Adam Smith

(C) John Maynard Keynes
(D) J. B.Say

12820638743, A
12820638744, B
12820638745, C
12820638746, D

In a simple Keynesian income determination model, the marginal propensity to
consume 1is 0.8, tax rate is 0.2 and a marginal propensity to import is 0.1 Which one
of'the following is the autonomous expenditure multiplier

(A) 251
B 217
©) 384

(D) None of the above

12820638747, A
128206238748, B
128206387459, C
128206358750, D

Which one of the following statements is true in case of the Keynesian Model of
income determination?

(A) Investment finances itself
(B) Investmentis constrained by saving

(C) Investment and saving are always equal ex ante
(D) None of the above

128206358751, &

12820628752 B
12820638753, C

www.FirstRanker.com
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From the income determination model in a closed economy, we can write:

Y-T=C+1+ G-T where C is consumption expenditure, I is investment
expenditure, G is government expenditure, T 1s total taxes collected by the
government. Which of the following is true?

(A) (G-T)is fiscal deficit

(B) (G-T)1s primary deficit

(C) (G-T)1s revenue deficit

(D) (G-T) 1s the sum of revenue deficit and budget deficit

12820638755, A
12820628756 B
12820628757, C
128206258758, D

From the Quantity Theory of Money, MV=P.y, which of the following statement is

true?

(A) The rate of growth of money supply equals rate of inflation always assuming that

V 18 stable and constant

(B) The rate of growth of money supply equals rate of growth of output that V is

stable and constant

(C) The rate of growth of money supply equals rate of growth of output measured in

nominal terms

(D) Rate of growth of money supply equals the sum of rate of growth of output and

rate of inflation given that V 1s stable and constant

12820638759, A
12820628760 B
12820638761, C
12820638762, D

www.FirstRanker.com
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8 A ssd econpmy apgeme determination model without government, if
consumption function is C = 50 + 0. Wi i$EHRAMELAIDE0, equili bl SRPREGECOM

(A) 2000
(B) 220
© 2200
(D) 350

12820638763, A
12820628764, B
12820638765, C
128206358766, D

Which of the following is true for Heckscher-Ohlin Model?

(A) Pattern of international frade is determined by differences in factor endowments
(B) Countries will export those goods that make intensive use of locally abundant
factors

(C) Countries will import goods that make intensive use of factors that are locally
gcarce

(D) All of the above

12820638767, A
12820628768 B
128206387649, C
128206387 70. D

Which one of the following is the currency in circulation to GDP ratio
(approximately) in India in end March 20177

(A) 6.75
(B) 10.75
@ =75
@ 155

12820638771, A
12820628772 B
12820638773, C

1282087 T O
www.FirstRanker.com
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. What percentage of GDP (approximately) in India was spent by the government as a
whole in 2016-17

(A) 109
(B) 89

© 129
(D) 149

12820638775, A
12820638776 B
12820638777, C
12820628778, D

Who are the winners of Nobel Prize in Economics in 20187

(A) Paul Romer and Paul Krugman

(B) Paul Romer and William Nordhaus
(C) William Nordhaus and Jean Tirole
(D) William Nordhaus and Amartya Sen

12820638779, A
128206238780 B
12820638781, C
12820638782, D

Which of the following books is written by John Maynard Keynes?

(A) The General Theory of Employment, Interest and Money
(B) The General Theory of Interest, Employment and Money
(C) The General Theory of Employment, output and money
(D) None of the above

12820638783, A
12820638784, B
12820638785, C
12820638786, D

www'.FirstRanker.com
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(A) Life expectancy at birth
(B) Mean years of schooling
(C) Standard of living

(D) Infant mortality rate

12820638787, A
128Z0638788. B
12820638789, C
12820638730. D

Demonetisation refers to

(A) Cancellation of the legal tender status of currency umt(s) in circulation

(B) Cancellation of the legal tender status of currency unit(s) held by the public

(C) Loss of value of a country's currency with respect to currencies of other
countries

(D) None of the above

128206387391, A
1282062387392 B
128206838733, C
128206258734, D

. The balanced growth model was propounded first by

(A) Albert O. Hirschman

(B) H.S. Singer and Raul Prebisch
(C) Ragnar Nurkse

(D) Both Aand C

12820638735, A
12820628736 B
12820638737, C
12820628738, D

PART-II (GROUP-D Psychology)
www.FirstRanker.com
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Which among the following 1s TRUE when the origin of data is changed?

(A)Values of both mean and S.D. get affected

(B) Values of both mean and correlation get affected
(C)Only the value of S.D. gets affected

(D)Only the value of mean gets affected

128206287399, A
12820628800. B
12820638801, C
128206238802, D

If the length of'a psychological test 1s changed it results in the change ofits

(A)Reliability only and not in validity
(B) Validity only and not in reliability
(C)Neither reliability nor validity
(D)Both reliability and validity

12820638803, A
12820628804, B
12820628805, C
12820638806, D

www.FirstRanker.com
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Person starts with a large request first and when that is refused then a smaller

request is made

(B) Person starts with a small request first when it 1s accepted then a larger request is
made

(C) Person tries to create an impression that he/she is very popular or very much in
demand

(D) None of the above
12820638307, A
12820638808, B

12820638809, C
128206238810, D

. When a person attributes negative behaviour of out-group members to internal quality
of the group and positive behaviour to external factors but in the case of behaviour of
m-group members he/she shows exactly its opposite pattern of attribution. This refers
to

(A) Fundamental attribution error
(B) Ultimate attribution error

(C) Judgemental error

(D) Cognitive error
12820638811 A

12820638812 B

12820638813, C
12820638814, D

The names of two schools of psychology-Structuralism and Functionalism-were
coined by

(A) Wundt
(B) James
(C) Dewey

(D) Titchener www.FirstRanker.com
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12820628816 B
12820628817, C
128206388158, D

. The first test of intelligence was made fo

(A)
(B)
(©
(D)

Measure 1Q of children
Measure 1Q of adults
to define the concept of IQ

To identify the slow learners

12820638819, A
128Z0638820. B
12820628821, C
12820638822, D

www.FirstRanker.com

Performance on IQ test has risen substantially around the world at all levels in recent
decades on account of environmental variables. This phenomenon is known as

(A) Environmental effect
(B) Kilpatrick effect

(C) Flynn effect

(D) Cumulative effect

12820638823, A
12820638824, B
12820638825, C
128206238826, D

www.FirstRanker.com
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(A) Information entered into memory in one context or setting is easier to recall in that
context than in another context
(B) Information cannot be recalled in any context without the help of a cue
(C) Information into memory in one contextis not easy to recall in that context

(D) Information entered into memory in one context can be recalled in any context

12820628827, A
12820638825, B
12820638829, C
12820628820, D

Brain injuries caused by different kinds of accidents and the resulting in neurological
damage to the brain result in

(A) Transient amnesia
(B) Anterograde amnesia
(C) Organic amnesia

(D) Retrograde amnesia
12820638831 A
12820638832, B

12820638833, C
12820628824, D

. Benjamin Lee Whorfwas of the view that
(A) Thought determines the quality of language one uses
(B) Language differs in how they label various conceptual categories
(C) Human thinking is not affected by the language
(D) Language determines the contents of'the thought

1258268388535 —=

12820833336 . B www.FirstRanker.com
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Which of the following statement 1s NOT correct
(A) Emotional intelligence 1s an ability that can be learned

(B) Emotional intelligence predicts success in life better than the academic
intelligence

(C) Emotional intelligence is influenced by hereditary factors

(D) Self-awareness is a component of emotional intelligence

12820638829, A
12820628840, B
12820638841, C
128206358842, D

Which of the following statements is false?
(A) Intelligence correlates highly with creativity
(B) Divergent thinking correlates highly with creativity

(C) The ‘self-assertiveness’ trait correlates with high scores on the various tests of
creativity

(D) A number of researchers have questioned the use of psychological tests for
measuring creativity

128206388432, A
12820638844, B
12820638845, C
12820638846, D

www.FirstRanker.com
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child grows older

(A) Alexander Pass along Test
(B) Wechsler Intelligence Scale
(C) Kaufinan Cognitive Test
(D) Stanford - Binet Test

128206258847, &
12820638845. B
128206238849, C
12820628850, D

A famous psychologist at Harvard University believed that the important factor in
our felt emotion is the feedback from the bodily changes that occur in response to a
frightening or upsetting situation. His name was

(A) Tomkins
(B) Schaster
(C) James
(D) Angell
12820638851, A
12820638852, B

12820638853, C
128206238854, D

Which among the following theory/law regards identification of threshold by subject
as form of decision making

(A) Signal detection theory
(B) Fechner’s Law

(C) Expectancy theory

(D) Weber’s law

www.FirstRanker.com
12820628855, 4
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The * New Look’ viewpoint in perception refers to the idea that
(A) In a new situation perception is based on past experiences
(B) All perception should be evaluated on the basis of new data
(C) Human beings have a natural tendency to perceive new things

(D) Motives and needs influence perception

12820638859, A
12820628860, B
12820628861, C
12820628862, D

The models of memory that descnibe parallel processing of information by numerous
neural modules in the brain are called

(A) Level of processing model
(B) Parallel network model
(C) Neural network model
(D) Memory network model
12820638863 A
128206335864 B

12820628865, C
12820638866, D

www.FirstRanker.com
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(A)B.N. Seal

(B) N.N.Sengupta

(C) Sudhir Kakar
(D)Girindrashekhar Bose

12820628867, &
12820638865, B
12820638869, C
12820628870, D

The kind of apparent movement seen in movies and on television is known as
(A) Autokinetic movement
(B) Induced movement
(C) Movement illusion

(D) Stroboscopic movement

12820638871, A
12820628872 B
12820638873, C
12820628874, D

Resistance to extinction of the conditioned response (CR) 1s usually best established
by using which of the following reinforcement schedule?

(A) Fixed interval
(B) Vanable interval
(C) Fixed ratio

(D) Variable ratio

12820628875, A
12820638876 B
12820638877, C
12820638578 [

www.FirstRanker.com



: » FirstRanker.com

A Firstranker's choice . .
www.FirstRanker.com www.FirstRanker.com

According to Graham Wallas creative thinking proceeds in the following stages
(A) evaluation, preparation, revision, illumination, incubation
(B) preparation, incubation, illumination, evaluation, and revision
(C) preparation, illumination, revision, incubation, evaluation

(D) preparation, evaluation, illumination, incubation, revision
12820638879, A
12820638880, B

12820628881, C
12820638882, D

A teacher has a belief that the students, coming from a family where elders are not
educated, will not be intelligent. In his class he treats such students as if they are not
intelligent. Unfortunately, these students also respond as 1f they are not intelligent and
finally their academic performance declines very low. This 1s an example of

(A) Prejudice

(B) Primacy effect
(C) Pygmallion effect
(D) Hypnotic effect

12820628882, A
12820638884, B
12820638885, C
12820628886, D

Bem, in his self-perception theory, argues that we know about our attitudes by
(A) dissonance reduction
(B) being reinforced for them
(C) learming from our parents
(D) trying to explain our behaviour

1ZBZ0EZEERT. A www.FirstRanker.com
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Most experimental subjects try to help the researcher by doing their best to perform as
they think they should do. This problem is called

(A) demand characteristics
(B) Hawthorne effect

(C) self-fulfilling prophecy
(D) Sleeper effect

128206238891, A
128206288392, B
128206288332, C
128206258834, D

135. In a class of 50 students there are 4 students from an ethnic minority group. Most of
the students are prejudiced against these ethnic minority students. The best way to
reduce the prejudice is to

(A) Teach ethnic minority students in a separate class

(B) Lecture the class that prejudice 1s unconstitutional

(C) Encourage ethnic minonty students to create positive impression about themselves
in the class

(D) Create a positive situation in the classroom where all students are forced to
cooperate

12820638835, A
128Z06288396. B
12820628837, C
12820638835, D

www.FirstRanker.com
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below:

Assertion (A): Most of the first-generation learners do not do well 1n studies

Reason (R): First generation learners lack good role models.

(A)Both A and R are true and R 1s a correct explanation of A
(B)Both A and R are true and R is not a correct explanation of A
(C) A 1s true and R 1is false

(D)A 1s false but R is false

12820638899, &
128206383900, B
12820638901, C
12820628902, D

Following questions contain two statements Assertion (A) and
Reason (R). Select the correct answer for each question according to the codes given
below:

Assertion (A): Wundt is considered to be the founder of scientific psychology.

Reason (R): Wundt wrote more on cultural psychology than on experimental
psychology.
(A)Both A and R are true and R is a correct explanation of A
(B) Both A and R are true and R 1s not a correct explanation of A
(C) A is true and R is false
(D)A is false but R is false

12820638903, A
12820628904, B
12820638905, C
12820628306, D

www.FirstRanker.com
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Reason (R). Select the correct answwivfsFigatiReq kestion accordivsnditheRanke! .obren
below:
Assertion ((A): In a diverse society many people are prejudiced against the members

of other groups.

Reason (R): Social categorization in terms of “us vs. them’ affects our perception of
social world.

(A)Both A and R are true and R 1s a correct explanation of A
(B) Both A and R are true and R 1s not a correct explanation of A
(C) A 1s true and R 1s false

(D)A is false but R is false

12820638907, A
12820628908. B
12820638909, C
128206258910, D

Following questions contain two statements Assertion (A) and
Reason (R). Select the correct answer for each question according to the codes given
below:

Assertion ((A): Moderate level of stress optimizes our performance

Reason (R): Yerkes- Dodson law explains the relationship between stress and
performance

(A)Both A and R are true and R 1s a correct explanation of A
(B) Both A and R are true and R 1s not a correct explanation of A
(C) A 18 true and R 1s false

(D)A is false but R is false

12820638911, A
12820628912 B
128206238913, C
128206258914, D
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- ﬂ%u t.ﬁaq. R QMnents Assertion (4) and

Reason ( {he correct answeniorFicatRag kestiom accordmpwd-tlseRankey gbren
below:

Assertion ((A): If distribution 1s skewed, then mean 1s not a good measure of central
tendency ofthe data

Reason(R): Mean gets affected by the extreme scores.

(A)Both A and R are true and R is a correct explanation of A
(B)Both A and R are true and R is not a correct explanation of A
(C) A 1s true and R 1s false

(D)A is false but R is false

12820638915, A
12820628916 B
12820638917, C
128Z20628918. D
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